


فيديوهات استفدت منها : 



 هلا امف chronic هنا ببسب نكل و reversible هنا COPD +ب و هنيب قرفلا
curable treatment 

 يفتخت نكمم هنteen-age Bلاب ريصي و ربكيل هانتسب asthma هاعم لفط يف ناك ول
هنم asthmaلا

Asthma is charaterized by episodes of acute bronchoconstriction that cause 
shortness of breath, cough, chest tightness, wheezing, and rapid 

respiration.

COPD نع asthmaلا زيمب يش نامك family history لا*
 asthma attack لمعب سب asthma ببسب ام smoking لا*

 



 immune related تانيجلا لوده asthma نع لوؤسم 1ج نم رثكا يف هنا ظح#نب
 راثك تقولا سفنب و inhibition مهلا لمعا بعص كيهل



The underlying inflammation of the airways contributes to airway hyper-
responsiveness, airflow limitation, respiratory symptoms, and 

diseasechronicity. 

Asthma attacks may be triggered by exposure to allergens, exercise, stress, 
and respiratory infections. 

Unlike COPD, cystic fibrosis, and bronchiectasis, asthma is usually not a 
progressive disease. 

COPD is progressive, which means it gets worse over time. Asthma is a 
reversible condition when the right treatment is received at the right time. 

This makes early treatment important, especially when ACOS occurs.

COPD is progressive





مهم مهم 

 يا نع فرعنل caseلل %مهم
يكحن مع ضرم



Asthma-COPD overlap syndrome (ACOS) is diagnosed when you have 
symptoms of both asthma and COPD. ACOS is not a separate disease, but 

rather a way for doctors to recognize the mix of symptoms and select a 
treatment plan that is most appropriate for you.

COPD اقل من asthmaمن ال attackخلي ببالكم انه ال



مث/ لو كان الtrigger هو بسة #زم 
نعمل elimination الها 

كل مرضى الasthma بتضايقوا من 
الدخان لهيك ما بصيروا يقربوا من اي 

Fمكان فيه تدخ

EIB: Exercise induced bronchoconstriction
FEV1: forced expiratory volume in one second
FVC: forced vital capacity
SABA: short-acting beta-2 agonists.



 : classificationلا حيضوت
 رهظتب ةرم مك ةيضاAا تادي=سلاب مهنع انيكح يلا ضارع-ا فوشب ىلو-ا ةطقنلا#
 عوبسHاب مهيلع

 ام لك اعبط ؛سفنلا قيضب روعشلا ببسب ميان وه و يحص ضيرAا ةرم مك فوشبً ايناث#
 عوبس-اب وا رهشلاب ددعلا ناك ول اوزكر ،أوسا عضولا ناك ام لك ظاقيتس-ا تارم تداز

 دامتع-ا و هلامعتسا ةرثك ،خاخب نع ةرابع وه و SABAلا لامعتسا تارم ددع فوشبً اثلاث#
mortalityلا ديزب هن- ةحينم وم ادبا هلا overuseلا و هيلع

 و قيهشلا لثم ةيعيبطلا ناسن-ا تاطاشن ىلع رثأت مع و ةلخادتم asthmaلا لهً اعبار#
 ت=غش ريثك و ،مونلا ،ريفزلا

 : ويسف ةيوش حرشأح ،lung functionلاع كيشبً اسماخ#

 صيخشتلا يه ضيرملل بسانAا ج=علا ةفرعA ةوطخ لوا
variables 5 نم نوكتب فينصتب classification هلا لمعا و هفنصا مز- ضيرAا صخشا ام دعب و

The FEV1/FVC is a ratio that reflects the amount of air 
you can forcefully exhale from your lungs. It's measured 
by spirometry, a test used to evaluate lung function.

It's made up of two measurements:
FEV1: Forced expiratory volume in one second, or the 
volume of breath exhaled with effort in one second
FVC: Forced vital capacity, or the full amount of air that 
can be exhaled with effort in a complete breath

FEV1/FVC ratio helps identify the type of condition you have and whether it is 
restrictive or obstructive.
Restrictive lung diseases (such as pulmonary fibrosis) affect your ability 
to inhale.
Obstructive conditions (such as asthma and COPD) affect your ability 
to exhale.
This test is often used to monitor lung disease, especially if you have an 
obstructive condition such as asthma.
Normal =80%
Decreased FVC With Normal FEV1/FVC Ratio = Restrictive lung disease
Decreased FEV1/FVC Ratio = Obstructive ling disease



Type your text

 ةيود8ا نع اوسردت ام دعب دي1سلل اوعجرا ؟ ييأر مكدب

!

ةرضاحEا صلخن ام دعب اهفيضأح و



An adrenergic agonist is a drug that stimulates a response from the 
adrenergic receptors. The five main categories of adrenergic receptors are: 

α1, α2, β1, β2, and β3

Stimulation of beta-2 receptors in the lungs causes bronchodilation 
B2 ىلع نوكيح asthmaلاب يلغشً اساسأ و



 epinephrine has a greater effect on beta receptors compared with 
norepinephrine, norepinephrine binds very poorly to β-2 receptors.

 severe نوكتب يلا ت,احب ,ا epinphrineلا مدختسب ام انا
selective beta 2 agonists هناكم مدختسبو



*Inhaled Beta 2-adrenergic agonists directly relax airway smooth muscle.

*All patients with asthma should receive a SABA inhaler for use as needed. 

*Beta 2 agonists have no anti-inflammatory effects, and they should not be used 
as monotherapy for patients with persistent asthma. 

However, monotherapy with SABAs may be appropriate for patients with mild, 
intermittent asthma or exercise-induced bronchospasm. 

*Direct-acting Beta 2-selective agonists include a/buterol and levalbuterol. 





*ICS remain the long-term controllers of choice in asthma, and LABAs are 
considered to be useful adjunctive therapy for attaining control in 

moderate to severe asthma. 

*Although both LABAs are usually used on a scheduled basis to control 
asthma, adults and adolescents with moderate persistent asthma can use 

the ICS/formoterol combination for relief of acute symptoms. 

*Adverse effects of LABAs are similar to quick-acting Beta 2 agonists.



They decrease everything except beta 2 receptors. 
They are used in Asthma more than COPD.

Actions on lung:

To be effective in controlling inflammation, these agents must be used 
regularly. 

After several months of regular use, ICS reduce the 
hyperresponsiveness of the airway smooth muscle to a variety of 



 ةليوط تارتف و ةليوط تاسروك ب مهمدختسا عونمم IV CS وا Oral CS هنا فرعن يرورض
 تانومرهلا يف disregulation لمعت نكمم و ةريطخ مهتعبت side effect هنا وه ببسلا و



*Oral or parenteral corticosteroids have a variety of potentially serious 
adverse effects, whereas Inhaled CS, particularly if used with a spacer, 

have few systemic effects. 





https://youtu.be/3IDcYS_Ch8o

https://youtu.be/Srwm1yK45w0

https://youtu.be/aVxToQ4h0iI



**Leukotrienes are chemicals your body releases when you come into contact 
with something you’re allergic to. They can cause:
1-Coughing.
2-Extra mucus and fluid in your chest and throat.
3-Inflammation or swelling in your airway.
4-Tight muscles in your airway.
5-Tightness in your chest.
6-Wheezing or difficulty breathing.

**Leukotriene modifiers, also called leukotriene receptor antagonists or 
leukotriene synthesis inhibitors, are medications that block the effect of 
leukotrienes or stop your body from producing them.

**Names of specific leukotriene modifiers include:
1-Montelukast
2-Zafirlukast 
3-Zileuton 



*وثاب ةيوشب مكركذأح و تادي,سلا رسفن اندب ن"ا*

Leukotrienes (LT) 4 and the cysteinyl leukotrienes, LTC4 , LTD4 , and LTE4 , are 
products of the 5-lipoxygenase pathway of arachidonic acid metabolism and 

part of the inflammatory cascade.

5-Lipoxygenase is found in cells of myeloid origin, such as mast cells, basophils, 
eosinophils, and neutrophils.

*LTB4 -> is a potent chemoattractant for neutrophils and eosinophils

*the cysteinyl leukotrienes -> constrict bronchiolar smooth muscle, increase 
endothelial permeability, and promote mucus secretion.

هسا ارجعوا للس,يد الي فوق



Zileuton and its metabolites are excreted in urine, whereas zafirlukast, 
montelukast, and their metabolites undergo biliary excretion

ا9هم نعرف الtarget لكل دواء و اسمه و متى بنستعمله

لهيك اي شخص عنده مشكلة 
بالliver بدي اكون حذرك معه

I can not use it in emergency

Most commonly used
Be carefull, if we want to inhibit LTB4, the 
most used drug is Zileuton



*Zafirlukast is an inhibitor of cytochrome P450 (CYP) isoenzymes 2C8, 2C9, 
and 3A4, and zileuton inhibits CYP1A2. 

*Coadministration with drugs that are substrates of these isoenzymes may 
result in increased effects and/or toxicity.

خلي عينك عالliver function و انت 
بتعالج

 يف هنا لاؤس باج روتكدلا ول ،ىتح لاؤس اهيلع يجيح ريثك ريثك ةمهم ةيئزجلا ياه
 نم دحاو نم رسكتب يلا x ءاود هعم دخويب و LT modifier دخويب ضيرم

 قوف مهانركذ يلا isoenzymesلا

 ؟ ضيرZاع x ءاودلا ريثأت نوكيح وش
 عوضوم نم فاخب انا نوه و ءاودلا رسكي يش يف ام هنا ببسب ديزيح هريثأت ديكا

 toxixityلا

باتكلا نم يه و تيgياه اهيلع و تحت ةدوجوم ةمولعZا ةغايص



Short duration of action = not used in emergency
Used in allergic asthma but no acute attack, and used in allergic rhinitis



They are not the first line in asthma 
But their combinations are the first 

line in COPD

الدكتور ما ركز على هاي الس'يد كونه 
الatropine ; يفصل استعماله 

بس اقرأوها ل'حتياط



It is subject to numerous drug interactions. Serum concentration 
monitoring should be performed when theophylline is used chronically.

It acts as a competitive nonselective phosphodiesterase inhibitor 
(inhibiting type III and type IV phosphodiesterase), which increases the 
concentration of intracellular cAMP, activates protein kinase A, inhibits 
TNF-alpha, and leukotriene synthesis, and also decreases inflammation 

and innate immunity.

problem with the rate or 
rhythm of your heartbeat



*mab = monoclonal antibody

 يا وا asthma ببسب ةجتان تناك اذا ام 6ب زييمتلا نود IgE و IL5 بِ اوطبتريب مهن!
 ينات يش

اهمواقي يش يقFتح ام malignant ىلا ايFخلا تلوحت ول كيهل 



نرجع نراجع هاي الس#يد







 اهفدهتسب يلا pathwayلا و ءاودلا مسا بولط"ا

 سب ماع لكشب ةركفلا اومهفا كيهل ليصافتلا نع لأسيح ام ىكح روتكدلا
تيMياه هيلع يلا ىلع زكر



corticosteroidsلا عبت effectلا نم ففخب هنا انيكح و هنع انحرش



Quiz Time ⌛
1)A 31-year-old man is brought to the emergency department complaining of 
dyspnea. He has a history of asthma and has had multiple asthma attacks 
requiring intubation for airway maintenance. He is noncompliant with his 
medications prescribed for this condition.Physical examination reveals a young 
man in acute distress. His room air oxygen saturation is 87%. In addition to 
administration of oxygen, immediate drug administration of albuterol should be 
administered by which of the following routes?
(A) Inhalation
(B) Intranasal puff metered dose
(C) Subcutaneous
(D) Sublingual
(E) Topical
Answer = A

2)A 7-year-old boy is brought to the emergency department by his parents after 
being stung by a bee. The parents say he is allergic to bee stings, and the 
patient is having great difficulty breathing. Epinephrine is administered 
immediately. His symptoms improve as molecules of epinephrine bind to beta 2-
receptors in bronchiolar smooth muscle. Which of the following drugs also 
stimulates these receptors?
(A) Acebutolol
(B) Phenylephrine
(C) Prazosin
(D) Salmeterol
(E) Timolol
Answer = D

3)A 23-year-old male college graduate student with a history of asthma presents 
to the ambulatory care clinic for follow-up. He uses a beta 2-agonist via inhaler 
when he has an attack. The treating physician should be alert to which of the 
following possible findings on examination and laboratory studies?
(A) Bradycardia
(B) Hyperglycemia
(C) Hyperkalemia
(D) Hypermagnesemia
(E) Hypertension
Answer = B



4)A 47-year-old man presents to the ambulatory care center with symptoms of 
hypoglycemia and is found to have an insulinoma. His medical history is 
significant for occasional asthma to which he treats using an albuterol inhaler, 
and an MI for which he takes daily low-dose aspirin. Because he takes aspirin, 
he is not able to immediately undergo surgery. The physician prescribes 
diazoxide for therapy until the tumor can be removed. Diazoxide stimulates 
potassium channels leading to inhibition of insulin release. Which of the 
following is most likely to occur in this patient as a result of diazoxide therapy?
(A) Bronchoconstriction
(B) Hypertension
(C) Hypoglycemia
(D) Hypotension
(E) Seizures
D

5)A 42-year-old woman with a history of asthma has an attack and is brought 
to the emergency department for evaluation and treatment. She is wheezing 
and is short of breath. What is the most likely pathophysiology of this 
condition?
(A) Bronchodilation
(B) Increased secretion of mucus
(C) Inflammation of the bronchial serosa
(D) Relaxation of bronchial smooth muscle
Answer = B 

6)A 5-year-old boy is brought to the clinic by his parents who say that he often 
has trouble catching his breath when he has been playing hard outside. He is 
allergic to peanuts. At the moment, he is breathing fine. Which of the 
following drugs would dilate his bronchioles in an acute asthma attack?
(A) Albuterol
(B) Methacholine
(C) Neostigmine
(D) Nicotine
(E) Pilocarpine
Answer = A



7)Five patients undergo surgery for various reasons. Each patient has a 
particular prior medical history. Which of the following patients would be 
most problematic to the anesthesiologist if thiopental is used 
during the surgery?
(A) A 5-year-old boy with recurrent otitis media
(B) A 7-year-old boy with recurrent sinusitis
(C) A 9-year-old boy with asthma
(D) A 12-year-old boy with anemia of chronic disease
(E) A 15-year-old boy who has never received anesthesia
Answer = C

8)A 4-year-old boy is hospitalized on the pediatric service with cough, runny 
nose, and chest pressure. Concern for respiratory syncytial virus is brought 
up by the treating physician. Treatment with zanamivir is undertaken. Which 
of the following underlying conditions can worsen bronchospasm in this 
patient?
(A) Adenoiditis
(B) Asthma
(C) Floppy tongue syndrome
(D) Pharyngitis
(E) Tracheitis
Answer = B

9) 6-year-old boy presents to his pediatrician for follow-up of recurrent hay 
fever and asthma. He usually has two to three attacks per week. For 
symptom control, he uses an albuterol inhaler, but his parents would like to 
try something more. They would like him to take something that would 
lessen the amount of attacks he has. Although corticosteroids would 
probably work best for prophylaxis, they are contraindicated in children. 
Which of the following drugs would decrease the amount of asthma attacks 
by preventing an arachidonic acid derivative from binding to its receptor?
(A) Aspirin
(B) Celecoxib
(C) Ipratropium
(D) Montelukast
(E) Zileuton
Answer = D



10) A 27-year-old man with recurrent asthma attacks is being 
considered for preventative therapy with cromolyn sodium. This agent 
is not effective as an acute treatment of an asthma attack because of 
the lack of which of the following properties?
(A) Anti-inflammatory
(B) Bronchodilator
(C) Immune modulator
(D) Mast cell stabilizer
(E) Neutrophil inhibitor
Answer = B

11) A 48-year-old man with a known history of asthma takes daily 
theophylline. He is found unconscious in his bathroom with an open 
bottle of theophylline that is now empty nearby. He is found by EMS 
to be apneic and pulseless. What is the most likely cause of death in 
this patient?
(A) Apnea
(B) Cardiac arrhythmia
(C) Pulmonary embolism
(D) Seizures
(E) Tetany
Answer = B

12) A 52-year-old man with asthma treated with a beta 2-agonist via 
inhaler has been having difficulty with therapy because of persistent 
changes in blood pressure, nausea, vomiting, and hypomagnesemia. 
Which of the following medications would be best for this patient?
(A) beta 2-Agonist via inhaler every other day
(B) beta 2-Agonist via inhaler every third day
(C) beta 2-Agonist via inhaler twice daily
(D) Change to ipratropium
(E) Change to epinephrine
Answer = D



13) A 13-year-old male has begun having spells of wheez-
ing and difficulty breathing while playing outside. He 
is diagnosed with asthma and given an inhaler to treat 
acute attacks. His medication is working well, but he 
would also like something to prevent attacks from happening. Which of the 
following drugs would be best to add to his regimen?
(A) Albuterol
(B) Epinephrine
(C) Ipratropium
(D) Isoproterenol
(E) Salmeterol
Answer = E

14) A 13-year-old boy with moderate asthma presents to the clinic for follow-up. 
His symptoms appear to be better controlled since adding salmeterol to his 
regimen. He has had to use his rescue inhaler once over the past 2 weeks during 
exertion. His breathing at night has improved as well. How does salmeterol 
exhibit its beneficial effects for asthma?
(A) Long-acting beta1-agonist
(B) Long-acting beta1-antagonist
(C) Long-acting beta1- and %2-agonist
(D) Long-acting beta2-agonist
(E) Long-acting beta 2-antagonist
Answer = D

15) A 24-year-old man presents to the primary care clinic for follow-up of his 
asthma. He has had asthma since he was 8 years old and requires daily 
treatment for his symptoms. He often has nighttime awakenings with coughing 
spells. On physical exam, diffuse wheezing is heard bilaterally. He is willing to try 
anything to improve his symptoms. The physician decides to add cromolyn to his 
regimen. What is the mechanism of action of cromolyn?
(A) Blocks leukotriene receptors
(B) Inhibits endothelin-1 receptors
(C) Mast cell stabilizer
(D) Muscarinic antagonist
(E) Phosphodiesterase inhibitor
Answer = C



16) A 34-year-old man with exercised-induced asthma is 
searching for a bronchodilator that will allow him to run in a 
marathon. The event will take him approximately 
6 h and 30 min to complete. The following
 diagram shows five bronchodilators. Which of the 
following agents will provide him with the most
 efficacious therapy during his run?
(A) Letter A
(B) Letter B
(C) Letter C
(D) Letter D
(E) Letter E
Answer = D

17) A 6-year-old boy is brought to his primary care 
physician with a history of hay fever and asthma. 
He usually has two to three attacks per week. 
For symptom control, he uses an albuterol inhaler, 
but his parents would like to try something more. They would like 
him to take something that would lessen the amount of attacks he 
has. Although corticosteroids would probably work best for 
prophylaxis, they are contraindicated in children. He is instead give 
montelukast. 
How does montelukast works?
(A) Blocks leukotriene receptors
(B) Blocks muscarinic acetylcholine receptors
(C) Inhibits COX-1 and COX-2
(D) Inhibits COX-2 only
(E) Inhibits lipoxygenase
Answer = A



 .دمحلا غيرفتلا ىهتنا

!

 ةليضفلا ماي:ا ياهب ةوعدب ينوسنت ام

"

❤❤ بالتوفيق 
#النادي_الطبي❤


